
x2
M6, Ø25 x2

Ø32, Ø25

350
650

95
0

47
0

x2

x2
M6x35

x2
M8x30

x2
M8x45

x2
M8

x2
M6

x2
M8

x14
M6

x16
M8

x2
Ø32

x2
Ø25

x2
Ø34

x2

x14
M6x25

x2
M8, Ø32

x1 x1x2

13 10

6 mm

SI
K

A
FL

EX

13

Ø32 mm M8x454a

4b

4c

x2
13

M8x30

10

Ø32 mm Ø25 mm

4

3

21

300-
400 mm

90°

300-
400 mm 90°

5

6 mm 6 mmb

5a
5a

5b

5b

SIKAFLEX 6

x2 x2

x2

PS65 - Mounting instructions
Båtsystem AB, Traneredsvägen 112, 426 53 Västra Frölunda, Tel: 031-69 03 80, Fax: 031-690097
www.batsystem.se, info@batsystem.se

2018 05 30 1

4a 4b 4c

5a 5b

x2
Ø25

x8
M6



10

M6x25

10

M6x25

10

7a

7b

7c

7b

ALT.

M6x35

Ø6mm

88a

8b, 8c, 8d

Ø25 mm

10

M6x25

13

9a, 9b

SIKAFLEX

x2

x2 x2x2

x2 x2

x2

x2

x2 x2

10a, 10b, 10c

10d

7

7a 7b

7c (7c)

8b 8c 8d8a

9 9a 9b

10

10a 10b

10c 10d

2018 05 30 2


